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Floms B TR et | B | e | oo | | B |y | e e | B2 e | e
1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00/ 000 ~ 363 4579 #huist 1000 ~  363| 243 12.29 ZThLLSE 1.00] 500 ~ 7.20 4579] Thilst | 500 ~ 7.20] 243 12.29
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 473 58.92| #hbLlst | 000 ~ 473] 221 11.18 Zh LS 1.00|] 500 ~ 7.20 58.92| Zhulst | 500 ~ 7.20] 2.21 11.18
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st -l -~ = -| Zn LSt -~ = = = Zh st = -~ = - ER LSt = e = = =
4 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Zh st 1.00[0.00 ~ 459 57.24] Zhuls 000 ~ 459] 205 10.37 Zh LS 1.00| 500 ~ 574 57.24] Zhils | 500 ~ 574] 205 10.37
5 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 6.93 87.78] #hList | 000 ~ 6.93] 1.69 8.53 Zh LS 1.00| 500 ~ 8.68 87.78] Thils | 500 ~ 868| 1.69 8.53
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{000 ~ 548 68.41] Zhuis |000 ~ 548] 1.73 8.75 Zh LS 1.00|] 500 ~ 6.00 68.41| ZThuls | 500 ~ 6.00] 1.73 8.75
7 100kN/mM#%# 8% % 1.00/ 000 ~ 0.10 101.50|3mZ#BZ5| - ~ = = -| 100kN/iZi#8 % % 1.00| 1258 ~ 13.00 101.50(3m%i#B% % = ~ = = =
Lot 1.00{ 0.10 ~ 7.89 100.00] Zh L4t | 0.00 ~ 7.89] 1.94 9.78 Zh st 1.00f 500 ~ 12.58 100.00f Z1List | 500 ~ 13.00f 1.94 9.78
8 100kN/mM##BZ 5 1.00{0.00 ~ 0.30 104.41|3m%EHB %% -~ = = -| 100kN/MZE#BZ % 1.00| 12.68 ~ 14.00 104.41|3m%E#B 2% = ~ = = =
ZnLst 1.00{ 0.30 ~ 8.08 100.00] Zh L4t | 0.00 ~ 8.08] 1.93 9.76 Zhn st 1.00f 500 ~ 12.68 100.00f Z1List | 500 ~ 14.00f 1.93 9.76
9 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00] 0.00 ~ 6.21 78.02] zh st | 000 ~ 6.21| 157 7.92 st 1.00f 500 ~ 8.00 78.02| Zh st | 500 ~ 800 1.57 7.92
10 100kN/mM##BZ % 1.00{0.00 ~ 0.94 114.07|3m%EHB %% -~ = = -| 100kN/ %z % 1.00] 12.14 ~ 16.61 114.07|3m%E#B %% = ~ = = =
ZnLst 1.00 094 ~ 8.72 100.00] Zh1 L4t | 000 ~ 872 2.13 10.74 Zh st 1.00f 500 ~ 12.14 100.00f Z1List | 500 ~ 16.61| 2.13 10.74
11 100kN/mM##BZ 5 1.00{0.00 ~ 1.55 123.67|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.67 ~ 16.39 123.67|3m%EB %% = ~ = = =
ZnLst 1.00] 1.55 ~ 9.34 100.00| Zh1list |0.00 ~ 934| 2.29 11.57 Zhn st 1.00f 5.00 ~ 10.67 100.00f Z1List | 500 ~ 16.39| 2.29 11.57
12 100kN/mM##BZ % 1.00{0.00 ~ 0.53 107.92|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00| 12.61 ~ 15.10 107.92|3m%E#B %% = ~ = = =
Zhn Lot 1.00{ 0.53 ~ 8.32 100.00] Z1ldst |0.00 ~ 8.32] 2.10 10.62 Zzh st 1.00f 500 ~ 1261 100.00| Zh st | 5.00 ~ 15.10] 2.10 10.62
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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